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1. Draw the shear diagram(SFD) and the moment diagram(BMD)
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of the beam shown in Fig.

2. The stepped shaft shown in Fig. is supported by bearings 7Zorsional Stress—Concentration Factor, K

at A and B. Determine the maximum stress in the shaft
due to the applied torques. The fillet at the junction of
each shaft has a radius of r = 6 mm.
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3. The 80—kg lamp is supported by two rods as shown in Fig.
If AB has a diameter of 10 mm and BC has a diameter of 8
mm, determine the average normal stress in each rod.

4. The three A—36 steel bars shown in Fig. are pin connected to a

rigid member.
If the applied load on the member is 15kN, determine the force
developed in each bar. Bars A5 and EF each have a cross—sectional

area of 25mm?, and bar CD has a cross—sectional area of 15mm?.

5. A solid steel shaft AB is to be used to transmit SHP from the
motor M to which it is attached. If the shaft rotates at =175 rpm
and the steel has an allowable shear stress of Oaow = 14.5 ksi.,
determine the required diameter of the shaft to the nearest 1/8 in.
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